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1. The leaflet shown includes transparent windows, allowing what is below to be

clearly seen when the flaps are folded over. When both flaps are folded over, what J |_] 4(9|12) | L
is the sum of the numbers that can be seen through the windows? IBRE | 57 I
To duAAaSlo Tou daivetal mephappavet dadavr mapabupa, enLTpénoviag va - '
daivetal kabBapad 0,TL BplokeTol oo KATW 0TV oL MTUXEG SumAwvovtal. Otav Kat ot B 16

600 mTuxEg SuthwBouv, Tolo eival To ABpoloua Twv apLBUWY TIOU PMmopolV va

davouv péoa amno ta nopabupa;

(A) 7 (B)9 (C) 12 (D) 14 (E) 15

2. The base of a triangle increases by 50% and its height decreases by one-third. What is the ratio of the area of the
new triangle to that of the original triangle?
H Baon evog tplywvou augavetal Katd 50% Kal to Uog ToU UELWVETAL KOTA To €va tpito. Mola eival n avaloyia
ToU gUPBadol Tou VEOU TPLYWVOU TIPOC To UPadOV Tou ap)LKoU TPLYWVOU;
(A) 2:1 (B) 1:1 (C)1:2 (D) 1:3 (E)1:4

3. In which of the following hexagons is exactly one-third of the area black and exactly half of the area white?
Y€ 1olo amd To MOPAKATW £€Aywva To £va Tpito Tou epfadol eival pavpo kat akplPwe To pLod Tou eppadou eival
AEUKO;

(A)@ (n)@ ((‘7)@ (D)@ (E)@

4. Kangaroo Day takes place every year on the third Thursday of March. Which date is the earliest possible day for
Kangaroo Day?
H Huépa tou Kaykoupod mpaypatonoleitatl Kabe xpovo tnv tpitn Méumtn tov Maptiou. Mola glval n mo cuvIoun
mubavr nuepopunvia ya thv Huépa tou Kaykoupo;
(A) 14/3 (B) 15/3 (C) 20/3 (D) 21/3 (E) 22/3

5. A recipe requires 1 cup of rice and 1% cups of water. Rosa wants to use 1% cups of rice. How many cups of water
does he need?
Mia ouvtayn amnattei 1 pAtiave pulL kat 1% dAtlavi vepo. H POla B€AeL va XpnOLLOTIOLROEL 1% dAutTlavt pulL. Mooca
dAtlavia vepod xpelaletal;
1 3 1 1
(A) 1 (B) 17 (€)1 (D) 2; (E) 25

6. Lisa has four wooden digits. She can use them to form the number 2025. How
many different numbers greater than 2025 can she form with these digits?
H Alla €xeL téooepa EUAwva Pndla. Mmopel va ta XpNOLUOTOLACEL yla va
oxnuotioel Tov aplBuod 2025. NMocoug dladopeTikoUg aplBUoUC LeYaAlTEPOUG
arnd to 2025 pnopel va oxnuatiost pe avta ta Ynolia;

(A) 3 (B) 6 (c)8 (D)9 (E) 11
7. Alexfolds a square in half along a diagonal to make a triangle. Thenhe  » = i€ ¢
folds the paper again so that one of the short edges of this triangle lies d
on top of the long edge of this triangle, making the smaller triangle r\.,‘_
AXC, as shown. What is the size of angle AXC? Al B A X:' B4 o

O AAef SuTAwvel éva TETPAYWVO OTN PECH KOTA PAKOG Hiag Sloywviou yla va oxnUOTIoEL €va Tplywvo. Itn
OUVEXELD, SUTAWVEL EaVA TO XOPTL £TOL WOTE io Ao TLG KOVTEG TAEUPEG AUTOU TOU TPLYWVOU Vo, TomoBetnBei mavw
OTNV HOKPLA TTAEUPE TOU TPLYWVOU, oxnuatilovtag to PKpoTepo Tpiywvo AXC, omwe daivetadl. Moto elval to HETPO
™G ywviog AXC;

(A) 108° (B)112.5° (C) 120° (D) 145° (E) 157.5°
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8.

10.

11.

12.

13.

The 4-digit number 80 is missing its last two digits. The number is divisible by 8 and 9. What is the product of
these two missing digits?

O tetpaPndlog apBpog 80 £xel SUo Yndia mou Aeimouv oto téAog. O aplBuog eivat SLatpetdg e To 8 katto 9.
Moo eivatl To ywopevo autwy Twv dVo Pndiwv o Aeinouy;

(A) 6 (B) 16 (C) 20 (D) 24 (E) 48

Luka has some dogs, some rabbits and some cats. Eight of his pets are not dogs. Five of his pets are not rabbits.
Seven of his pets are not cats. How many pets does Luka have?

O AouUkag £Xel PEPLKOUG OKUAOUG, HEPLKA KOUVEALO KOl MEPLKEC YATEC. OKTW amo To KATOWKiSLA Tou Sev eival
okUAoL. Mévte amd ta Katolkidld tou Sev elval Kouvélla. EMTa amo Ta KATtowkidid tou dev eival yateg. Nooca
Katolkidla €xeL o AovKag;

(A) 10 (B) 11 (C) 15 (D) 16 (E) 20

A circle with center O and radius 10 cm is given. A square OPQR is drawn inside the circle,
where Q is a point on the circle. What is the area of the shaded triangle PQR?

Alvetal £vag KUKAOG pe kévtpo to O Kat aktiva 10 ek. Eva tetpdywvo OPQR eival oxedlaopévo o, I
pHéoco otov KUKAO, Omou To Q eival éva onueio otov kUKkAo. Moto eival to gpPfadod tou

OKLAOPEVOU Tplywvou PQR; P 0
(A) 12.5cm? (B) 12cm? (C) 50cm? (D) 75cm? (E) 100cm?

An athlete has a collection of two gold and five silver medals. They are numbered from
1to 7, in some order. The picture shows grey photos of the medals. It is known that in

each photo, exactly one of the medals is gold. What is the sum of the numbers on the [@@@} @@@]

two gold medals?

‘Evag aBAntn¢ £xel pia cuAAoyn amod SU0 Xpuad Kal TIEVTE achnUéVia LETAAALA. Eival [@@@] @@@]

oplOunuéva amd to 1 €wg to 7, HE KAmowo oespd. H ekdova Oelyvel ykplleg ,
dwrtoypadieg Twv petarliwy. Eival yvwotd otL os kGBe dwroypadia, akplBwg va [@@@] @@@]
amnd ta PeTdAALa elval xpuod. Moto ival To dBpolopa Twv aplBuwyv ota SUo xpuod
UETAAALY;

(A) 7 (B) 8 ()9 (D) 10 (E) 11

Anna looks at a photo on her smartphone. The format is 16:9 and fill the whole display. When
she turns the smartphone, the picture gets smaller. What fraction of the display area is taken
up by the smaller picture?

H Avva kowtalel pla dwrtoypadio oto Kvntd tng. H avaloyia Siaotdoswy sival 16:9 kat
KaAUTttel oAOKANpn tv 00dvn. Otav yupilel To Kvnto, N £lkOva yivetal pikpotepn. Molo
KAGopa g emipavelag tng 006vng KatohapuBAVEL n ULKPOTEPN ELKOVQ;

(A) 2 (B) = e (D)= (E)

Kate and Thomas are celebrating their birthday today. Thomas notices that %9 of Kate’s age is equal to 117 of his
age. The sum of their ages is greater than 40 and less than 100. How old is Kate?

H Katepiva kot 0 Owpag yloptdlouv ta yevéBALd toug onpepa. O QWA mopatnpel OtL To % ™S nAKiag t™g
Katepivag elval (oo pe t0 % ™G nAkiag tou. To aBpolopa Twv NAKLWY Toug eival peyoAltepo amo 40 Kot

HLKpOTEPO amo 100. Noowv eTwy elvat n Katepiva;
(A) 19 (B) 34 (C) 38 (D) 57 (E) 76
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14.

15.

16.

17.

18.

19.

20.

Peter shoots a total of 27 times at two targets. He hits 50% of the shots he aims at the top left
target and 80% of shots he aims at the bottom right target. He misses a total of 9 shots. How O

many times did he aim for and hit the top left target?

O MNétpog nupoPolAel cuvolika 27 dopég o dUo oto)ouG. Netuyaivel To 50% Twv BoAwv ToU
OTOXEVEL OTOV MAVW aPLOTEPO OTOXO Kol To 80% Twv BOAwV TTOU OTOXEVEL OTOV KATW 6e€L10
OTOX0. ZUVOALKA aotoxel og 9 BoAEg. Mboeg GOPEC OTOXEUOE KAl METUXE TOV TAVW OPLOTEPO
oTOXO0;

(A) 4 (B)5 (C)6 (D)7 (E) 8

(]

Sara has a bag of 18 balls, numbered from 1 to 18. What is the smallest number of balls Sara should remove in
order to guarantee that she has removed at least three balls with prime numbers on them?

H Xapa €xel pla toavta pe 18 umaleg, aplBunuéveg anod to 1 £€wg to 18. Molog ival o eAdxLoToG aplOudg ano
UTIAAEG TTOU TIPETIEL VO AdALPETEL, WOTE VA ElvaL olyoupn OTLEXEL AdALPECEL TOUAAXLOTOV TPELG UTTAAEG LE TIPWTOUG
aplBuoug;

(A) 11 (B) 12 (C) 13 (D) 14 (E) 15

Chris wants to place the numbers 1 to 8 in the eight cells of the diagram, with one number in
each cell. He wants the cells that contain two consecutive numbers not to share a side or a
vertex. Which numbers can Chris put in cell marked X?

O Xpnotog BéAeL va tomoBetroel Toug aplBuolg amo 1o 1 £wg To 8 oTa OKTW KEALA TOU
Slaypapparoc, pe évav aplOpod os kaBe keAl. OENeL Ta KeALA ou Tiepléxouv SUo Sladoxikoug

aplOpouc va unv potpalovral mAeupd 1 kopudr. NMotoug aplBpolg unopel va tonobeTnoeL oto X
KeAl mou onuewwvetal pe X;

(A) 1or8/1n8 (BY2or7/2n17 (C)3o0r6/3n6

(D)4or5/4R15 (E)70r8/7n18

The integer N is the largest six-digit integer with the product of all its digits equal to 180. What is the sum of the
digits of N?

O aképatoc N gival o peyalutepog e€adridlog aplBuog tou omoiou To ywvopevo 0Awv Twv Pndiwv eival ico pe
180. Moo eivat To aBpolopa twv Pndiwv tou N;

(A) 21 (B) 22 (C) 23 (D) 24 (E) 25

The two shaded rectangles are congruent. Both shaded rectangles have area 4. What is the p
area of the large rectangle ABCD?

Ta 6U0 okloopéva opBoywvia gival ioa. To epPadov kabevog amod ta oklaopéva opboywvia
eivat 4. Moto eivat to epPadodv tou peydhou opboywviou ABCD;

(A) 10 (B) 8V3 ()8 (D) 12 (E) 43 A B

The product of three prime numbers is 11 times their sum. Find the largest possible value that sum could take.
To ywopevo TpLwv MpWwTwv aplBuwyv eivat 11 dopég 1o dbBpoloud toug. Nola eivat n peyaAutepn duvath T o
Umopel va mapel to aBpolopa;

(A) 14 (B) 17 ()21 (D) 25 (E) 26

Five bricks are placed on the ground, as shown. Peter can only remove a brick if

there are no bricks on top of it. He selects one of the available bricks at random

and removes it, until all the bricks are removed. What is the probability that the

brick numbered 4 is the third brick to be removed? T 7]
Mévte touPAa TomoBetolvtal oto £6adog, Onwe daivetal. O METpog Unmopet va 3 [ 4 5 |
adalpéost €va ToUPA0 povo edv Sev umdpxouv aMa toUBAO TTAvw TOU.
Emdéyel éva amd ta Swabéowpa toUPAo Tuyaia kol To adolpsl, pExpL va
adalpebolv 0Aa ta TouPBAa. Mola ival n mBavotnta to ToUPAO He aplBuo 4 va
elvat to Tpito ToUPAo Tou Ba adatpedei;

(A) 5 (8); (€ (D)

[N N

(E)
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21. The square ABCD contains two rectangles. One is grey and the other striped, with
dimensions as shown in the diagram (not to scale). The area of the overlapping part of A «vﬂ* B
the two rectangles is 18cm?2. What is the perimeter of ABCD?
To tetpaywvo ABCD meptéxetl Vo opBoywvia. To €va eival ykpL Kol To GAAo £XEL piyeg,
pe Slaotaocelg onwg dpaivovral oto Staypappa (6ev eival o kAipoka). To epBadov tou
ETUKOAUTITOEVOU HEPOUC TwV SU0 opBoywviwv eival 18 cm?. Mota lval n MEepPIUETPOg
Tou TeTpaywvou ABCD; D W
(A) 28cm (B) 34cm (C) 36cm
(D) 38cm (E) 40cm

Hcem

7cm

22. A four-digit integer ABCD is multiplied by its units digit D. The result is a different four-digit
integer DXY A, that has the units and thousands digits of the original integer interchanged. How ABCD
many four-digit integers ABCD have this property?
Evag tetpadidlog aképato¢ ABCD moMoamAaotdletal pe to tehevtaio Pndio D. To x D
anotélecpa eivatl évag Sladopetikog tetpanolog aképatog DXYA, o omoiog éxel ta DXY A
tedevtaia kot ta mpwta Yndia Tou apxikol aplBuol vo €xouv avtlotpadel. Moool
tetpandlot aképatot ABCD £xouv auth thv L8LOTNTO;
(A) 1 (B)2 ()9 (D) 10 (E) 11

23. Dimitri numbers certain squares on a sheet of grid paper. Each square has a side-length
of 0.5cm. He starts with one square and then numbers the squares 2, 3,4,5,...ina
counter-clockwise direction, as shown. He stops when he has numbered 2025 squares, 5143
and looks at the shape made up of all the numbered squares. What is the perimeter of
this shape?

O Anuntpng aptBusi diadopa tetpaywva oe éva GUANO XopTol TAEypotog. Kabe 7
TETPAYWVO EXEL MAeUPA 0,5 K. ZEKLVA LE £VA TETPAYWVO KAl LETA OpLOUEL TO TETpAYWVA

2,3,4,5, ..., ue katevBuvon avtiBetn amo tn popd Tou poAoylou, Onwe dpaivetal.

Jtopatd otav £xel aplBunostl 2025 TETpAywva Kot KOLTAEL TO OXAUO TTOU oxnUaTtileTal

ano OAa ta aplBunpéva Tetpaywva. Motla ival n mepiHeTpog auTol ToU OXNUATOC;

(A) 25cm (B) 45cm (C) 80cm (D) 90cm (E) 180cm

e >
(=]
—
[]

24. ABCDEF is a six-digit integer made up of the digits 1, 2, 3, 4, 5 and 6, with no repeated digits. Its first two digits
AB is multiple of 2, its first three digits ABC is multiple of 3, its first four digits ABCD is multiple of 4, its first five
digits ABCDE is multiple of 5 and the full integer ABCDEF is a multiple of 6. What is the sixth digit, F?

O apBuog ABCDEF eival évag e€adndlog aképatog mou anoteAeital ano ta Ynola 1, 2, 3, 4, 5 kot 6, xwpig
enavolappavopeva Pndia. Ot mpwtot Vo apBuol AB ivat ToOMaAAGGLo Tou 2, oL TpwToL TPeLS aptdpoi ABC
givat moAAammAacLo Tou 3, oL mpwTtoL Téoaeplg apldpol ABCD sival moAAamAacio Tou 4, oL TpwToL TEVTE aplOpot
ABCDE eivat moMamAdoto tou 5 kat o mAfpng aptbuog ABCDEF eival moAamAdoto tou 6. MNolo sival to ékto
dbndio, F;

(A) 2 (B) 4 (C)6

(D) both 2 and 4 are possible / to 2 kat to 4 sival mbava

(E) both 4 and 6 are possible / to 4 kat to 6 gival mBava

25. In the diagram, the diameter of the inner circle forms part of the diameter of the outer
circle. The outer circle has a chord of length 16 that is parallel to its diameter and is also a
tangent to the inner circle. What is the area of the shaded region?

210 SLAypappa, N SLAUETPOG TOU E0WTEPLKOU KUKAOU amOTeAEL HEPOC TNG SLAUETPOU TOU
eEwTePIKOU KUKAOU. O eEwTePLKOG KUKAOG EXEL ULa X0pdr UNKkoug 16 mou eivat mapdAAnin
HE TN SLAUETPO TOU Kal €lval emiong ePpaMTOLEVN OTOV E0WTEPLKO KUKAO. Molo ival To
euBaddv TNC OKLACUEVNC TTEPLOXNAC; =
(A) 361 (B) 491 (C) 64n (D) 81m

(E) the information provided is not sufficient. / oL mAnpodopieg dev eival emapkeic.
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26.

27.

28.

29.

30.

‘EEL KUKAOL TOTTOBETOUVTAL O OXAUA TPLYWVOU, OTIWCE daivetal. O MNavvng ypddet Toug aplbpuoug

A sequence of numbers a4, @y, a3, Ay, ....... Q1 is such that from the third term onwards, each term is equal to
the mean of all the previous terms. That is, a5 is the mean of a; and a5 ; a, is the mean of a4, @, and a3 and
so on. In this sequence a; = 8 and a4, = 26. What is the value of a;, ?

H akolouBia aplBuwv aq, ay, as, Ay, «..... a1 €lvaltétola mou amd tnv tpitn B€on kot PeTd, KABe Opog givat o
HECOG 0pOG OAWV TWV TIPonyoUeEVWY Opwv. AnAadn, a; €lval 0 LECOG OPOG TWV @y KAL &y , A4elval 0 PEoOG
0pOG TWV A1, &y KAL a3 KAl oUTw kaBegNg. Ztnv akohouBia auth, aq = 8 KaL a1y = 26. Mota givat n T Tou ay;

(A) 28 (B) 32 (C) 38 (D) 44 (E) 50

Six circles are arranged in the shape of a triangle, as shown. John writes the digits from 1 to 6

inside the circles so that the sums of the numbers in the circles on all three sides of this triangle

are the same. He then calculates the sum of the numbers in the three circles at the vertices of \
the triangle. How many possible values could he obtain for this sum?

arod 1o 1 £wg To 6 HECA OTOUC KUKAOUG, £TOL WOTE TO ABPOLOUA TWV apLBUWY 0TOUG KUKAOUG OE ( A
KABe MAEUpPA TOU TPLYWVOU Vva gival to (61o. 2Tn cuvéxela, umoloyilel To dBpolopa Twv aplBuwv T
OTOUG TPELG KUKAOUG OTIC KOpUDEC TOU Tplywvou. Moleg sival ot SUVOTEG TIUEG TTOU UTOPEL va

TAPEL AUTO To ABpoloua;

(A)1 (B) 2 (€)3 (D) 4 (E)5

At a party, there are twelve children, including three pairs of twins. How many ways are there to distribute six
blue hats and six red hats to the children, so that in each pair of twins, both children are wearing hats of the same
colour?

Je éva maptL, umapyouv dwdeka madld, cupneplappavopuévwy tplwv {euyaplwv SIGUUWV. Nocol Tpodmol
UTTAPXOUV YLa VA LOLPAoTOUV €€L UITAE KOTEAQ Kol €€L KOKKLVAL KamEAQ ota madld, £€tol wote o€ KaBe {guydpl
516U WY, Kal ta SUo maldLd va popave KarmeAo Tou (Slou xpwHaToc;

(A) 72 (B) 86 (C) 92 (D) 102 (E) 132

Triangle ABC has an area of 60. Point | is the midpoint of side BC, and the points J
and K divide side AC into three equal segments. Point L is the intersection of Al and
BJ. Find the area of triangle ALJ.

To tpiywvo ABC éxet epBadov 60. To onpeio | eival to péoo tng mAeupdg BC, kal ta
onueia J kat K Stapouv tnv mAsupad AC oe tpia loa tuRpata. To onueio L gival n
Toun Twv guBelwv Al kot BJ. Bpeite to eupadov tou tplywvou ALl

D

(A) 4 (B)5 (C)6 (D)7 (E)8

Anastasia wants to write the numbers from 1 to 8 into the cells of a 2 x 4 grid. The number
in each cell must be smaller than the number in the cell to its right and smaller than the

number in the cell below it. In how many different ways can Anastasia fill the grid?

H Avaotaoia 6€Ael va ypael Toug aplBuolg amno 1o 1 €wg To 8 ota KEALA VOGS TTAEYHLATOG
2 x 4. 0 aplOudc o kABe KeAL pEMeL va lval ULKpOTEPOC aTto ToV apLlBUo oto KeAl Sg€Ld Tou

KOl LLKPOTEPOG Ao TOV apLBUO oTo KEAL Ao KATw Tou. Me moooug SLadopeTikoU TPOTOUG
UMopel N Avaotaoia va yepLoel To TAEYUQ;
(A) 6 (B) 8 (C) 10 (D) 12 (E) 14




